1. Fact & Negative Fact
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Fact & Negative Fact 2Xl= X222 HE=S 2= £ 20 CHoll J1E Z ot &

HdEots =0 N20AM 22 MF 322 222 S0l &€XIot=Xl &

E=XE 2=t

Fact 2XH2 d2 X222 WS LXdt= 2IIE, Negative Fact 2 M2 B2 K22
LHEW LXI6HA 2s BIIE €22 MEioOoF 8tCt. 2tA Fact & Negative Fact 2XI S
2| ®loid= NZ0AN SH HZ0 26t F2E B2 20t O 201 HESHA
BERH O M0 AKXl Eolote A& 2 ol O 8.
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Fact & Negative Fact EMl= 2&
HAEC S8 =S NEGH &= &
2O At (IR E EHHGH0F SHCH 4002 &0 = 28 OI 2I12 XN, X2
AL 22 2012 T E oL 2 U O (paraphrase) Lt 2 7| & StCY.

L
S Ei= Otch ot 2Lt

d Fact

* According to paragraph #, which of the following is true of ?
et #0ll 2otH, s = Of 2ol AFAIQI 27

* According to paragraph #, what/how/why ?

CHef #0l 2otH, 201/ Z AHl/H A=I1?

* According to the passage, which of the following is true of ?
A=20 2otH, s = Oif 2t Atal el X 27

1 Negative Fact
* According to paragraph #, all of the following are mentioned EXCEPT...

ctef#0l ot Ots2 ... Bt HQot) 25 HAZ & UL

* According to paragraph #, which of the following is NOT true of ?

e #0l QlotH, TS =S Ol 2tolf A& 0l Ot X227

M Z=0otJ|

Ct8 2 Fact & Negative Fact M2l S 0ICH &AM NS&E S ®Ioll 0|2 83| &&56t12
ZHE SHAN BIEA BEZolf =Ct.

D XN20AN 222 3= 20|
E=22 g UEQ JAEE &olet = XN=20A IREI el 22 Z=C0 0l
JRE= N2 HOL I JdUZ L HU Z2 2012 O E S®HoL 22

Ht 3 O (paraphrase) Lt = Ct.

F2 MEE MUZ HRO &2 2| &)
IHE A X2 80 EII1E 8lwotH, A2 WHE= MU 2 Bt & (paraphrase)
I8 =0 |22 20l Uz &eld 28 2XE UL bl =8 ol 28
ArE8t 2D10F 8 E0lCH

(2R Z0| AFZI)

KEY VOCABULARY LIST



foster &= & &t Ct
inhabit(=dwell) &f Ct
manipulate(=control) % £}
assertion(=declaration) =&
vulnerable F| 2f &t
devotion & 4l

indicate L+EFUH CF
tremendous & &
testament S I
resemble(=take after) & Ct

ot Ct
Xt



2. Vocabulary

HE HEot=

Vocabulary ZMeE N20 548 Xcld @2 JHd =
% 1|E|D|‘: StCt.

|.
oIt =2 H0e x5 22X, 2tEs P9 =
Vocabulary Z M= 8 X2 1~2J0 0t S M = Ct.
Vocabulary ZHE ZJ| ®loiM=E HHE & =0t 2ol S2AUHE H0l 2 0F
StCF.

S AHZ

Vocabulary 2 M= Jt& FALe 2 ItoiOF ot &0 £= AEXNEZU E=20 SE2=2
HAISOH40S &0 £= 20t 212 UG 88X 22 SHie ofcHe 20

* The word “ ” in the passage is closest in meaning to . ..

N=22 o~ "2 o014 -2 JFE D2 L

* The phrase “ ”in the passage is closest in meaning to . . .

K29 -~ "2 2014 -2 JbE D2

2 Ml S 6t

CtE 2 Vocabulary 2 M2 SS-HOICH AN DSE= ?of 0|12 BE0l efsotd 2HE
=0AN BIEA HEoll =0

D s2A0 =AU

412 2J] S0HM S Melel 22 sAHZ tlat= 2018 MM A CJ0IE 82 Z
AU

@ Yol 9= 2| &)

K20 CHot 230l &= 2210t EE0ICH.

(X = 0[ A

TIPEZ2 2 2 RAGtLE X200 ot S I S W& 2|0| It Sotkl E2 27

L= gtelois 2E0IC0H

KEY VOCABULARY LIST
detrimental(=harmful) o £ 2
immense 2 ({ &t
vast 2 & &t
disguise(=conceal) ?| & ot Ct
indication & &=

detect 2t XI5t Ct

excite X} =6tCh

incline ~ot= &0l ULt
aggressive &2 & 0l
magnify 2 C§ 6t Ct



3. Reference

Reference 2M= X220 & HMc2lE XNAIAHIE Jieldl=e WS dEct= S|S0l

KAIOet, =22 2Z2810 SEdS &#20ot)| Aol S&=2 HOHE Bt A ALEGH 2=
CHal AF=E lZHEH ANE Z22Z= Z0ICH Reference 2= & N2 14 EME I = of1)

OOl E M &I Xl & IE etCt.

Reference —'?—HI I A= NAKHZ Xt== M0l el HBS 9oldd, 2 50
=& 22 ’éﬂ%‘ol Olofiolll ol 11 XIAIOJL XI&ote a0l S Wetol=
A5 = ol OF B L.

SN &HE

Reference 2 Ml= XIAIHE Jteldl= S IHoHOF ot A2 220 522
HAIBHCEH XIAIH 20l S&ot= 4002 ©HH £= FIF 2I|12 =HACH A E0 A=z
SEH= OtcH o & L.

* The word “ ”in the passage refers to . . .

K&9o &~ "2 2 Jtel2IC.

* The phrase * ”in the passage refers to . . .

Kzl -~ 2 -2 Jtel2ICh

M SEotJ|

Ct=2 & Reference @ M2l SSHHOICH AN DSE= ol 0|2 BE0| &&ot] =ME
=HA BFEA HEZEo =CF.

D2WE Soll XAl CHat = U

KA = 2HE S0l AIAIHAS A=HoI0H EII0A OlA &S e WHCH XIAI OOt
eIl a2 XAItHA Ol 2t Bt KIAIH 2 CH Holl A2 EICh XTAICHA S XTAITK 2
22 2, 20| S2 I8

A= =HE = XA

ol CHY At it, its, they, their, them SHUHE A some, others, one, another
KIAICHE A this, that, these, those ZHHICHS AL who, which, that

=

Q@ XN2UM =2 XAIHAS XA S0 30 20 St= 2210t FE0IC
(2 M =0l AtE)

KEY VOCABULARY LIST
intervention(=influence) 2+ &
inspire 11| 6t Ch

stable 0 & & 0l

inclination & &
simulate(=imitate) 2+ = Ct
ambitious Of&! & 0l

offend 2 & 0| &HoHCH
denial £ ¢!



4. Sentence Simplification

Sentence Simplification 2 Xl= X200 & XMclel &2 sy FE2E 2tZotH & &
Bl & 2&S de8ote SEO0ICH Simplification0lgt, =& 2EUHA £It 8B E
Melst s BE2E FHWA 26t Bt M =(paraphrase) 24 = 2| 0| 8tCt. Sentence
Simplification 2 M= &t X2 1010t EXM & J1S 5t OtMl E M & Xl 201 & &HCH.
Sentence Simplification EME 2| fdiMsE FOHE &2 A FLE HEGHA
OloHot) OI2% 22 K22 2tEGHAH HH R & 28 = It ot=e ASS ol OF 8Lt

ZHd &4HE2|
Sentence Simplification E Xl = 2t&f3toliOf & =&
Helel 282 MA=s & 400 BI12 FHACH 8 X0 2HEZ HEfe OFeH 2t

* Which of the sentences below best expresses the essential information in the highlighted
sentence in the passage? Incorrect choices change the meaning in important ways or leave
out essential information.

F M S 06|
Ct & 2 Sentence Simplification 2 Xl 2 A2 SSHEHOICH &M DSHE ?loff 0|12 BE0
5t&50l) SHE EHA BIEA EZ0 2.

DA S ZHLDI

S Hel=E SHUHAM A SR 202 MAD =228 HANEZ Ul
S20ILE GIAIQH 2201 =OIRO0ILE NIRXQI WS 2 HB0/122 Ml &ttt

Q@ sHa MEE 2h&k5tst ©I| 2|

A ME= U2 A2l 2F RES HIRAHU HIX8 SHoLE RS AR50 K e)
=2 24EOHA 8RN 2 2I10Ft 20| CH

TIPS Mel8 2ol 9012 Mol R 818 22 el 2= 2E0ICh

KEY VOCABULARY LIST
innovation = 4l
specialized & 2 & 2l
subjected to ~2| F &= &=
facilitate %OI ot Al ot Ct
estimate 3= =6l C}
comprehensive(=complete) S & & ©!
fluctuation H 3}
accumulate =& &I Ct
interaction &S & &
replace CH &1 6 Ct



5. Rhetorical Purpose

Rhetorical Purpose M= &JJt =20lM E&8 H8=S A28 95, L= =& HHE9
Jlsg & & UEU= BIIE d8dte RE0IC. 6IIAM rhetorical(== At X 21)0] &,
I Yol ot HIE OS &WA0l0 2YotAH LIEFWI| i Chest 58
gAlS AFE26t=E A S S8 Rhetorical Purpose 2 M=
Rhetorical Purpose 2 HE Z7| flolA= S ES2 M
S2 240, B O ESEHS AASIH=X Hote 9F

Hs= ol OF 2 L.

M A4HED
Rhetorical Purpose =M= 2/ E I
HAISCH 8922 EAIGHA 2= 2
StAEZ TASC JdEHEHZ

Fote S& HOL #E X220 S82=2
et N8 =0, oY &2 A

SEi= OtcHet &L

-

* Why does the author mention “ ” in the passage/paragraph #?
o Zot= N2/ #0IM - 'S Hegot=It?

* What is the purpose of paragraph # in the overall discussion?
SAHMZECI WA S #2] JIs2 A2

=Ml S&ot)

Ct= & Rhetorical Purpose = M2 SEE0|CH A& D=E S ?ol 0|2 B&0l etsotd
ZHME SHM BtEAl HEoH 2L
@ 2W I o & WotD|

RN 2L A= EH0H, A E= 20| 028 F22 N20AH H0t &= 2WS A4HED
Olcdier 80| XI20A et =2 MA=K] et SHEo 2128 =2= =M 2
B, N2 8Ml SS0l =0 oY &0l ot= JlssS W etCh
otefst o U JlsS JH&l BI18 20t g 2 X| #0161

Ol JIsS et 20 EL2 tla= 218 #2101 WHE0 X210 €Xlot=X
OIS Q&S U DS, W80l 25 2XIdte 2210t 3E0IC

=AM S JIsE UEtUHE 2|

&3 To explain, To describe INPN To support

Ol Al To give an example of, To gt To contradict, To criticize

illustrate

Bl 1w To compare A To further develop the idea

CH = To contrast dx To emphasize, To highlight
KEY VOCABULARY LIST

restructure M 24 &l C}
ridiculous A Z A2

manifest(=operate) £ %t 6t Ct
precipitation & ==



thrive 21 & ot Ct

barren 0l O 2
intermittently | & ©| A
exaggeration Dt &
evoke (4 22| Ct



6. Inference

Inference EM= XA2S BIE2Z FEE = A= UHES= == 220 Ui JtE Z ot
g= & 2JIE d8ote S0t =E0/&, X220 2HE HEotH 280 UAXe
ZXEH X200 MAIZN A= AMd FEE 2HZ ol SFEHU Us d=2= L0tU=
= L&t Inference EXl= & XI=E 0~210t E M= Ch

Inference 2ME )| ?loid=s XNES Z ot 0loiot) 0IE 2HE FEot= 252

oft OF L.

M AHED
Inference 2H= 28 S8 s
ttets X &EGHA &= 822 X2 M

SR & 2J10

-_-—
Ol

* According to the passage/paragraph #, what can be inferred about ?
K2/ #0ll 2ot e, Ol 26t f201 =& Jts8tt?

» Which of the following can be inferred from the passage?
s & e A0l K20 M =2 Jts8tot?
* It can be inferred from the passage/paragraph # that...

X2/cer#0lA ... 2 =2 5 AL

2H B6t0|

CtS 2 Inference 2 M2 22HOICH AN DSHS 2/ 0|2 BB5| 85510 2HE
ZOM BIEA H25 20,

D K20 A Z22 3= 20t 22 It st)|

2o Al LHZQ IIFAEE 018 = X20A IFASIH A3E 222 21D FHI
S I}oHEHC

@ &2 YSE HIE2Z U2 28 20| 2D

IIHE FH LHES HIE2Z2 2II2 HIWdt0o! B2 =28 A2 el J3ge2 U2
T 2SS HIESOR F25IL ctolL X2 A W22 =22 0|66
Z25IE 5I22, IIYCE s 2 N2 W22 B25 A5t 0ldists 240l
S QOICH F2 X0l XAIOILE A 40| Ot XIR2 H2EE HIZ2Z 510 AANO2 =20
Jts st 2010F 0l

KEY VOCABULARY LIST

=dt=

evaporate = 2 ot Ch
verify(=confirm)
postulate(=claim) == & 6t Ct
sustenance A 4| ==Ct
preculiar £ 0| &t
symmetrical CH & 2
tendency(=nature) & &
incorporate & & o} Ct
signify 2| 0| 5t Ct

intensive & =& 0l



7. Insertion

Insertion —‘?—HI = éLEI

== A&

_]JE-II-IOEEX-”%E}
Insertion 2 M E Z | =
HAHZC O U=X IH&Aol=E HS

A = L
|Ct. Insertion 2 M= & X2& 1DH’A'

ZH 4HED|
Insertion 2Ml= K22 Wl JH2 ME HEACHH & 2H0 SHZ ?IXIE B Alof =L
ME ROl RS SES OF2HQF 20}

* Look at the four squares [ ] that indicate where the following sentence could be added to
the passage.

G2 280 X220 &edE = As XS UEIHH= 402 HISEA[H]E 20tet.

(& =&]

Where would the sentence best fit?

OCIoF OtE HEEHIL?

Click on a square [l ] to add the sentence to the passage.

oHE U2 A[M]E SE06t0 MAIE &= X200 &S alct.

E M S0t

Ct S & Insertion 22 SSHOICH &M DSHE ?Iof 01S 8806l &sotd 2HE
ZHAN BEA BEo =L

DY & A2 AR = LHD

& 2 W SHHE 01860 MO EAIE =8 &2 220 Ul JHe | = &L
X0 SHZE RIXE FHUHL & 2E2 SAI 2= 20l AKX SI+CI5HAH
HEOZ (ate AXNE FTHYE = UL HAESE £ U=BR, 5802 B0 &
& M0 2A0F S WE0| RAUX F=Foll 2L SHAIFE = A= ES2 0l= Orell 2
2 C.

o 28U S ULeE ©HA

ZHAF a, the

KIAIOF this, that, these, those, their, such

AZN for example, however, therefore, accordingly, in addition, also, similarly

@ 2 U= AR D

X | B0 & =282 = 25 28U =28z HZE =X &QIetCt =30l

KEY VOCABULARY LIST
apply(=employ) & & | Ct
conviction(=faith) &I 'S
envelop & MtCt



cosmos 3

venerate = il St Ct
predominance XI i
respiration S &
advocate X| X| G} Ct
commemorate J| & 3t Ct
privileged S & 0| =0 &



Summary 2He K22 4 WE(Major idea)2 JI& & 1 U= BI| 3HE M5
X XN2e AEs 24otl= RE0ICH Summaryst, 22 4 UWE2 FHUH 2HE0]
HEote A= ZEtCt Summary 22HMle= 2 XZ2 OHKY 2HZ2 SHMEH, & e
100t &M X2, Summary 2/ 2l A Bl =0t ¢ =CF.

Summary EHE ZJ| fdiAd=e 2 dMA 2 S FHE IHAGt], 2 EI(0t 2
MM SA0l D= WECIX OtLIY MSH0ILD =SLQotA E2 WX oedt=

A== ol OF 2 L.

S AHEZ

Summary =Ml C&EE, = 28, A2 4= # HSeH6

2l & YES 20 HEE 3ME SEHotH 2AH
PN

deX0 EE22 il Oteli 2k 2L

o
0
12

* Directions: An introductory sentence for a brief summary of the passage is provided
below. Complete the summary by selecting the THREE answer choices that express the
most important ideas in the passage. Some sentences do not belong in the summary
because they express ideas that are not presented in the passage or are minor ideas in the
passage. This question is worth 2 points.

Drag your answer choices to the spaces where they belong.
To remove an answer choice, click on it. To review the passage, click on View Text.
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Answer Choices
(A) (D)
(B) (E)
(C) (F)

KAl N22 @a4g 218t &2 S&0! Oreiol =AM UCH X222 & SRS WE2 LiEtU = 3He EJI1E2
=2ct A2 RUYs 2405t o™ 2HEE2 N20 A2 22 WE0ILE X222 AR UWE2S UEUWL
A2 XS Q4 Ee Xl 2=Ch 0l 2XH= 2&8O0IC

=5t N2lol 48 2552 200 =0t 88 =2 AHoted ™ 1 20 226tet. X NE22 UAl 2 H
View Text 0t0| 22 22!5tct.

2 Ml S ot
2 Summary 2KH2 S-HOICH &8 1S
=HAN BtEA HZof =Lt

0
T
10
%
o
i
Ok
Ok
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T 22 %29

nE=0 2 Es0 90

@ S4 WX =015t

Xe MHo 58S YO0 LYo Hlaes
LIZQIXIE 2H0IBHCY,

KEY VOCABULARY LIST

synthesize & & 6t Ct
exploit(=use) & & ot Ct
dominant X| B = Q!

susceptible F&f 2| 2
significantly &f & 3l

portable 5 CH & 2|

profession & &

discrimination & &
unsurpassed(=superior) & & &t
tactic(=strategy) 7| =



9. Category Chart

Category Chart =Xl= X222 M= HFE2== Z2Z20 HAIE & =(Category)0ll A

ZF0ot0d E(Chart)E &4 ot= 28 0ILCt. Category Cha rt SHeE 2 N2 o 2H2
SMZH, & XNEY 100t SMEIIE ot SHMEX &2I1% &tCh. Category Chart & XDt

ENEX 22 ZR20= Summary 2 X Ot & HI = Ch.
Category Chart 2HE 2| flodiME=E 2 &=0 HYot=e MR FL
TS0t H2lote H&S ol OF StCt.
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Category Chart 2Xl= Clgid, 20 = 32 &=0| JUs SSEF 70 £= 9
2I1€ &0 28Il 5 2= &4 QC*OIC‘E 50iLt 7OHE 26t 2FH0U 20T
=0l0F &tCH EI(0F 7JHY moles 38, 99HY WMols 480l 2HHOICH MEAQ AR
SEi= OFeH et &2 L.

» Directions: Select the appropriate phrases from the answer choices and match them to
the type of to which they relate. TWO of the answer choices will NOT be used. This

question is worth 3 points.

Drag your answer choices to the spaces where they belong.
To remove an answer choice, click on it. To review the passage, click on View Text.

Answer Choices Category 1
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Category 2
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KA BII0A HES RE SetMd 2HE S50 UH BHXoet F e Bl AAEE X Z=C 0l 2=
3&0|Ch.

=5t Ao S8 =2 B0C =0tct. A8 =2 ANGHEH 1O 20 2iotet. dH X222 CAl 24
View Text 0t0| 22 Z&!5tct.

Z Ml S &6t

Ct22 Category Chart M2 SefHOICH &A™ DSHE fol 01 B&0| &0k
ZHE ZHM BIEAl HEDH 2L,

@ H2U XNR0A HlR g2 06t

AF9 ZFH0W HMAIE bl g2 =0t £ N20M 2 &30 885 = 222
1}t 8Lt



@ e L1 =ols)]

Blu&E=s &=59 N2 22

MEX, e =0 ol &S
KEY VOCABULARY LIST
descriptive J| = = QI

unveil 83| Ct(=disclose)
ascertain 7+ & ot Ch
persistence Xl &4

institute 2 %! 6 Ct(=organize)
accumulate = & &l Ct(=collect)
precede H X & Of LICH
elongate 2 (4 X| Ct

superficial ot & 2
unwarranted £ & st



